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SAHAE 20254

Oll&FRE== - 204

IAHRE =B

ORG=EINE-F" Mgl

= & Al & I\ = Al &
& = =l HEEY = X&EH HEEX =N Z

=i A 1,072,375 1,168,570 1,072,375 1,168,570 A96,195
sl 2 =] 0 XA AL I 161,500 111,000 50,500
) N = 0 0 0 0
oo 3 0 0 0 0
f%oﬁngg éﬁ) 0 0 0 0
OE33al= 0 0 0 0
ol Xl 2 3l = 1,040,875 1,135,120 = 910,875 1,057,570 146,695
o =~ =2 0 azdelzas 0 0 0
o X = ¢ 29,500 32,450 L2248 0 0 0
J & = 2,000 1,000 e 0 0 0




SIHAE 2025
Oll&bRb== @ 20 &
AHFE - A=

@ +7H

(& e)
o o@-ow-s s | SO | B2 4By
200 M2l 31,500 33,450 1,950
210 3&HAN 2l 29,500 32,450 A2,950
216 Ol At==& 29,500 32,450 A2,950
216-03 J|EHOI b=~ 29,500 32,450 A2,950
NAEIZ olxl=Z oIkt
29,500,000& = 29,500
220 SAIEAN L= 2,000 1,000 1,000
224 J|Et¢ 2,000 1,000 1,000
224-07 12 +¢ 2,000 1,000 1,000
1NAEI2 JIEts=¢
2,000,000& = 2,000
700 EH=USLLHEHN 1,040,875 1,135,120 A, 245
710 28U S 1,040,875 1,135,120 AN, 245
714 GIXI 23l 1,040,875 1,135,120 AA, 245
714-01 OIXI =&l == 1,040,875 1,135,120 AN, 245
DXEDIZ2 oXIZ2 3=
1,040,875,000& = 1,040,875
= 2 & A 1,072,375 1,168,570 AN, 195




SHHE 20254
Oll&FXE= @ =0l &
SHFE - HEI2
® XN&HE EERE)
XN .22 BH .09 - MDA - BAS ney | foa | wms2
==X 1,072,375 1,168,570 AN96,195
FHAAHNESKIA 161,500 111,000 50,500
FHAHNE=EXNSH 161,500 111,000 50,500
AEII2(XEIS) 161,500 111,000 50,500
ISPl == gnker) 160,000 110,000 50,000
307 212t 60,000 110,000 250,000
11 ARISXAIEEX 60,000 60,000 110,000 250,000
EX, SAIG S48 KIA 10,000,000& = 10,000
NAEAEE dX L JIsE2d S Xd
50,000,000& = 50,000
401 AIEHIZL20HBI 100,000 0 100,000
01 Al&HI 100,000 100,000 0 100,000
NASREHE A= A 100,000,000& = 100,000
AHED ISR 1,500 1,000 500
307 2I2t01A 1,500 1,000 500
11 ARISXIAMRE X 1,500 1,500 1,000 500
NAEIY X 1,500,000& = 1,500
JIEt 910,875 1,057,570 A 146,695
HeEs (==X 910,875 1,057,570 A 146,695
BEXE(XEI2)(HEI2) 910,875 1,057,570 A 146,695
SBEXE(XEIIZ) 910,875 1,057,570 A 146,695
602 GIXl= 910,875 1,057,570 A 146,695
01 LBHHlXli= 910,875 910,875 1,057,570 A 146,695
NAEIZ oxi32 910,875,000& = 910,875
os g A 1,072,375 1,168,570 A, 195




SAHAE 20254

Oll&bXb==
SIAHRE - A2 SR X))
x 8o
=] o =

2=21 e HoI2 2 | xoz ﬁ)ff;;) OIXt£2l | JIErSE
20193 DX 0 0 0 0 0 0
2020 &= 1,241,718 1,241,712 0 0 6 0
20218 & 46,322 0 0 0 8,125 38,197
2022 &= 16,209 0 0 0 11,538 4,671
20234 & 2,157 0 0 0 672 1,485
2024H &= 33,450 0 0 0 32,450 1,000
2025 &= 31,500 0 0 0 29,500 2,000

Al 1,371,356 1,241,712 0 0 82,291 47,353
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GlAFRIZ @ =0 A
MR K22 (
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o

Xl 3{ OH
0 o /M
" S
FES | e |HISXE | SHEA | aueww | XASE | W3 | Lo | @0
ARIHL | HI | R O1=301 | 23 AE | 2IS3As
20194 kXl 0 0 0 0 0 0 0 0
20208 = 0 0 0 0 0 0 0 1,241,718
20219 80,909 80,909 0 0 0 0 0 234,587
20229 47,344 47,344 0 0 0 0 0 231,135
20238 = 59,728 59,728 0 0 0 0 0 257,571
20245 < 111,000 111,000 0 0 0 0 0 AT7,550
20258 = 161,500 161,500 0 0 0 0 0] 130,000
Al 460,481 460,481 0 0 0 0 0 910,875
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4. (X2 £ GE= YAl
SHHET : 2025
MARES = 0at
TR RIS G
I EE
22 |oxi(EHH - . . bl
NBHTLHIYY | 0UHTLHTYU@ | 2005 LSO =2(®-®)
A 1,118,424 1,040,875 910,875 130,000
MIXl=2 B | 1,118,424 1,040,875 910,875 130,000
Z2=28 1,118,424 1,040,875 910,875 130,000




